STANDARD FORM OF AGREEMENT

STATE OF TEXAS

WILLIAMSON COUNTY

THIS STANDARD FORM OF AGREEMENT (the "Agreement") is by and between WILLIAMSON COUNTY, TEXAS, a political subdivision of the State of Texas (hereinafter called "County") and Mills Construction, LLC (hereinafter called "Contractor").

The County and Contractor, in consideration of the mutual covenants hereinafter set forth, agree as follows:

Article 1. Work

Contractor shall complete all Work as specified or indicated in the Contract Documents. The "Project" is generally described as follows:

Project No. <u>P685 - Sonterra Boulvevard</u>

Article 2. Engineer of Record

The Project has been designed by <u>Huitt-Zollars</u>, Inc., who is hereinafter called the "Engineer of Record" and who is to act as the County's design professional.

Article 3. Contract Time

The Work shall be Substantially Completed in <u>120</u> calendar days (the "Contract Time"). Following Substantial Completion, the Contractor shall proceed expeditiously with adequate forces and shall achieve Final Completion within the time specified in the Special Conditions.

Article 4. Contract Price

County shall pay Contractor for completion of the Work in accordance with the Contract Documents an amount in current funds equal to the sum of the amounts determined pursuant to paragraph 4.1 below (the "Contract Price"):

4.1 For all Unit Price Work, an amount equal to the sum of the established unit price for each separately identified item of Unit Price Work times the estimated quantity of that item as indicated in the Bid Form, and as totaled below:

TOTAL OF ALL UNIT PRICES <u>Five Hundred Sixty-Six Thousand</u>, <u>Eight Hundred Twenty-Nine Dollars and Thirty-One Cents</u> \$566,829.31 (dollars)

As provided in the General Conditions, estimated quantities are not guaranteed, and determinations of actual quantities and classification are to be made by the Engineer of Record.

Article 5. Contractor's Representations

In order to induce County to enter into this Agreement, Contractor makes the following representations:

- 5.1 Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bidding Documents including the "technical data".
- 5.2 Contractor has visited the site and become familiar with and is satisfied as to the general, local and site conditions that may affect cost, progress, performance or furnishing of the Work.
- 5.3 Contractor is familiar with and is satisfied as to all federal, state and local Laws and Regulations that may affect cost, progress, performance and furnishing of the Work.
- 5.4 Contractor has carefully studied all reports of explorations and tests of subsurface conditions at or contiguous to the site and all drawings of physical conditions in or relating to existing surface or subsurface structures at or contiguous to the site which have been identified. Contractor acknowledges that such reports and drawings are not Contract Documents and may not be complete for Contractor's purposes. Contractor acknowledges that the County and Engineer of Record do not assume responsibility for the accuracy or completeness of information and data shown or indicated in the Contract Documents with respect to Underground Facilities at or contiguous to the site.
- 5.5 Contractor has correlated the information known to Contractor, information and observations obtained from visits to the site, reports and drawings identified in the Contract Documents and all additional examinations, investigations, explorations, tests, studies and data with the Contract Documents.
- 5.6 Contractor has given Engineer of Record written notice of all conflicts, errors, ambiguities or discrepancies that Contractor has discovered in the Contract Documents and the written resolution thereof by Engineer of Record is acceptable to Contractor, and the Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.

- 5.7 Contractor represents and agrees that there are no obligations, commitments, or impediments of any kind that will limit or prevent performance of its obligations under the Contract Documents.
- Contractor warrants, represents, and agrees that if (i) it is a corporation or limited liability company, then it is a corporation duly organized, validly existing and in good standing under the laws of the State of Texas, or a foreign corporation or limited liability company duly authorized and in good standing to conduct business in the State of Texas, that it has all necessary corporate power and has received all necessary corporate approvals to execute and deliver this Agreement, and the individual executing the Agreement on behalf of Contractor has been duly authorized to act for and bind Contractor; or (ii) if it is a partnership, limited partnership, or limited liability partnership, then it has all necessary partnership power and has secured all necessary approvals to execute and deliver this Agreement and perform all its obligations under the Contract Documents; and the individual executing this Agreement on behalf of Contractor has been duly authorized to act for and bind Contractor.
- Neither the execution and delivery of this Agreement by Contractor nor the performance of its obligations under the Contract Documents will result in the violation of any provision, if a corporation, of its articles of incorporation or bylaws, if a limited liability company, of its articles of organization or regulations, or if a partnership, by any partnership agreement by which Contractor is bound, or any agreement by which Contractor is bound or to the best of the Contractor's knowledge and belief, will conflict with any order or decree of any court or governmental instrumentality relating to Contractor.
- 5.10 Except for the obligation of the County to pay Contractor the Contract Price pursuant to the terms of the Contract Documents, and to perform certain other obligations pursuant to the terms and conditions explicitly set forth in the Contract Documents, County shall have no liability to Contractor or to anyone claiming through or under Contractor by reason of the execution or performance of this Agreement. Notwithstanding any obligation or liability of County to Contractor, no present or future partner or affiliate of County or any agent, officer, director, or employee of County, or of the various departments comprising Williamson County, or anyone claiming under County has or shall have any personal liability to Contractor or to anyone claiming through or under Contractor by reason of the execution or performance of this Agreement.

Article 6. Contract Documents

The "Contract Documents," which comprise the entire agreement between the County and Contractor concerning the Work, consist of the following:

- 6.1 This Standard Form of Agreement
- 6.2 Performance Bond
- 6.3 Payment Bond
- 6.4 Maintenance Bond
- 6.5 Certificate of Insurance
- 6.6 Wage Rates
- 6.7 General Conditions
- 6.8 Special Conditions
- 6.9 Technical Specifications
- 6.10 Plan Drawings
- 6.11 Addenda numbers 1 to 1, inclusive
- 6.12 Contractor's Bid Affidavit and Bid Form
- 6.13 Documentation submitted by Contractor prior to Notice of Award.
- 6.14 The following which may be delivered or issued after the Effective Date of the Agreement and are not attached hereto: All Written Amendments and other documents amending, modifying or supplementing the Contract Documents pursuant to applicable sections in the General Conditions.

The documents listed in paragraphs 6.2 et seq. above are attached to this Agreement (except as expressly noted otherwise above).

There are no Contract Documents other than those listed above in this Article 6. The Contract Documents may only be amended, modified or supplemented as provided in the General Conditions.

Article 7. Miscellaneous

- 7.1 Terms used in this Agreement, which are defined in the General Conditions, will have the meanings indicated in the General Conditions.
- 7.2 No assignment by a party hereto of any rights under or interests in the Contract Documents will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, moneys that

may become due and moneys that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.

- 7.3 The County and Contractor each binds itself, its partners, successors, assigns and legal representatives to the other party hereto, its partners, successors, assigns and legal representatives in respect to all covenants, agreements and obligations contained in the Contract Documents.
- 7.4 Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon the County and Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken position.
- 7.5 Each party to this Agreement hereby agrees and acknowledges that venue and jurisdiction of any suit, right, or cause of action arising out of or in connection with this Agreement shall lie exclusively in Williamson County, Texas. Furthermore, this Agreement shall be governed by and construed in accordance with the laws of the State of Texas, excluding, however, its choice of law rules.
- 7.6 The parties to this Agreement agree that during the performance of the services under this Agreement they will not discriminate against any employee or applicant for employment because of race, color, religion, sex, or national origin. The parties to this Agreement will take affirmative action to ensure that applicants are employed, and that employees are treated during employment, without regard to their race, color, religion, sex or national origin. Such action shall include, but not be limited to the following: employment, upgrading, demotion, or transfer; termination; rates of pay or other forms of compensation, and selection for training, including apprenticeship.
- 7.7 This Agreement is for the sole and exclusive benefit of the parties hereto, and nothing in this Agreement, express or implied, is intended to confer or shall be construed as conferring upon any other person any rights, remedies or any other type or types of benefits.
- 7.8 Each party to this Agreement acknowledges that it and its counsel have reviewed this Agreement and that the normal rules of construction are not applicable and there will be no presumption that any ambiguities will be resolved against the drafting party in the interpretation of this Agreement.
- 7.9 Each party to this Agreement, in the performance of this Agreement, shall act in an individual capacity and not as agents, employees, partners, joint ventures or

- associates of one another. The employees or agents of one party shall not be deemed or construed to be the employees or agents of the other party for any purposes whatsoever.
- 7.10 Nothing in this Agreement shall be deemed to waive, modify or amend any legal defense available at law or in equity to County, its past or present officers, employees, or agents or employees, nor to create any legal rights or claim on behalf of any third party. County does not waive, modify, or alter to any extent whatsoever the availability of the defense of governmental immunity under the laws of the State of Texas and of the United States.
- 7.11 To the extent, if any, that any provision in this Agreement is in conflict with Tex. Gov't Code 552.001 et seq., as amended (the "Public Information Act"), the same shall be of no force or effect. Furthermore, it is expressly understood and agreed that County, its officers and employees may request advice, decisions and opinions of the Attorney General of the State of Texas in regard to the application of the Public Information Act to any items or data furnished to County as to whether or not the same are available to the public. It is further understood that County's officers and employees shall have the right to rely on the advice, decisions and opinions of the Attorney General, and that County, its officers and employees shall have no liability or obligation to any party hereto for the disclosure to the public, or to any person or persons, of any items or data furnished to County by a party hereto, in reliance of any advice, decision or opinion of the Attorney General of the State of Texas.
- 7.12 County and Contractor have signed this Agreement in triplicate. One counterpart each has been delivered to the County, Contractor and Engineer of Record. All portions of the Contract Documents have been signed, initialed or identified by County and Contractor or identified by Engineer of Record on their behalf.
- 7.13 This Agreement and the Contract Documents represent the entire and integrated agreement between the parties hereto and supersedes all prior negotiations, representations, or agreements, either oral or written. This Agreement may be amended only by written instrument signed by each party to this Agreement. NO OFFICIAL, EMPLOYEE, AGENT, OR REPRESENTATIVE OF THE COUNTY HAS ANY AUTHORITY, EITHER EXPRESS OR IMPLIED, TO AMEND THIS CONTRACT, EXCEPT PURSUANT TO SUCH EXPRESS AUTHORITY AS MAY BE GRANTED BY THE WILLIAMSON COUNTY COMMISSIONERS COURT.

This Agreement shall be effective as of the date of the last party's execution below (which is the "Effective Date" of the Agreement).

Williamson County, Texas		
Ву:	CONTRACTOR Mills Construction	4
Printed Name:	By: Mel Mi	
Title:	Title: PRESIDENT	
Date:	Date: 6/30/2025	

Williamson County Road Bond Program Sonterra Blvd. June 24, 2025

Bid Comparison

Bidder		Bid Amount	Rank	Difference from Engineer's Estimate (\$)	Difference from Engineer's Estimate (%)	Difference n Low Bid (\$)	Difference from Low Bid (%)	
Mills Construction LLC	\$	566,829.31	1	(\$164,031.14)	-22.4%	\$ -	0.0%	
Jerdon Enterprise, L.P.	\$	594,480.75	2	(\$136,379.70)	-18.7%	\$ 27,651.44	4.9%	
Chasco Constructors	\$	594,944.00	3	(\$135,916.45)	-18.6%	\$ 28,114.69	5.0%	
Aaron Concrete Contractors, LLC	\$	597,238.21	4	(\$133,622.24)	-18.3%	\$ 30,408.90	5.4%	
MTL Construction	\$	624,703.45	5	(\$106,157.00)	-14.5%	\$ 57,874.14	10.2%	
Joe Bland Construciton, LLC	\$	632,763.00	6	(\$98,097.45)	-13.4%	\$ 65,933.69	11.6%	
MA Smith Contracting Co., Inc	\$	687,223.45	7	(\$43,637.00)	-6.0%	\$ 120,394.14	21.2%	

BID ITEM	TECH SPEC	DESCRIPTION			Engineer's Estimate		Mills Construction LLC		Jerdon Enterprise, L.P.		Chasco Constructors		Aaron Concrete Co	ontractors, LLC	MTL Construction		Joe Bland Construciton, LLC		MA Smith Contracting Co., Inc	
BIDTIEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
1	100-7002	PREPARING ROW	11	STA	\$ 5,250.00 \$	57,750.00	\$ 8,800.00 \$	96,800.00	\$ 3,625.00 \$	39,875.00	\$5,300.00	\$ 58,300.00 \$	2,000.00 \$	22,000.00	\$ 2,413.43	\$ 26,547.73	\$ 2,750.00	\$ 30,250.00 \$	2,000.00 \$	\$ 22,000.0
2	104-7017	REMOVING CONC (CURB AND GUTTER)	60	LF	\$ 40.00 \$	2,400.00		3,000.00	\$ 6.00 \$	360.00			21.00 \$	1,260.00	\$ 99.39		\$ 75.00		20.00 \$	\$ 1,200.0
3	110-7001	EXCAVATION (ROADWAY)	400	CY	\$ 70.00 \$	28,000.00		20,000.00					75.00 \$	30,000.00	\$ 59.72		\$ 75.00		100.00 \$	\$ 40,000.0
4	110-7002	EXCAVATION (CHANNEL)	203	CY	\$ 70.00 \$	14,210.00		10,150.00					50.00 \$	10,150.00	\$ 68.89		\$ 75.00		70.00 \$	
5 6	132-7005 160-7002	EMBANK (FNL)(OC)(TY C) FURNISHING AND PLACING TOPSOIL (4")	17 2,056	CY SY	\$ 70.00 \$	1,190.00		4,250.00					375.00 \$ 5.00 \$	6,375.00 10,280.00	\$ 311.72 \$ 11.85		\$ 260.00 \$ 6.00		150.00 \$ 5.00 \$	
7	164-7004	BROADCAST SEED (PERM URBAN CLAY)	3,084	SY	\$ 20.00 \$	41,120.00		2,004.60		4,626.00			0.36 \$	1,110.24			\$ 1.00		0.30 \$	
8	166-7002	FERTILIZER	0.13	TON	\$ 1.55 \$ \$ 2,000.00 \$	4,780.20 260.00		406.25					6.019.00 \$	782.47	\$ 9.717.40		\$ 25,000.00		5,500.00 \$	\$ 715.0
9	168-7001	VEGETATIVE WATERING	41.1	TGI	\$ 100.00 \$	4.110.00		4.110.00		6 452 70			65.00 \$	2.671.50			\$ 120.00		20.00 \$	
10	169-7001	SOIL RET BLKT(SL MOD CLAY SHORT)	2,056	SY	\$ 2.50 \$	5,140.00				9,252.00	\$ 1.50	\$ 3,084.00 \$	4.00 \$	8,224.00		\$ 10,896.80	\$ 3.00		2.00 \$	\$ 4,112.0
11	260-7003	LIME (QUICKLIME (SLURRY))	14	TON	\$ 633.00 s	8,862.00		5,250.00	\$ 430.00 \$	6,020.00	\$ 350.00	\$ 4,900.00	384.00 \$	5,376.00	\$ 513.00	\$ 7,182.00	\$ 400.00	\$ 5,600.00 \$	500.00 \$	\$ 7,000.0
12	260-7007	LIME TRT (EXST MATL) (8")	767	SY	\$ 26.00 \$	19,942.00		12,272.00					40.00 \$	30,680.00			\$ 80.00		21.00 \$	
13	341-7001	D-GR HMA TY-B PG64-22	409	TON	\$ 250.00 \$	102,250.00		74,642.50					205.00 \$	83,845.00			\$ 155.00		195.00 \$	
14	341-7022	D-GR HMA TY-C PG70-22	65	TON	\$ 805.00 g	52,325.00		15,843.75					250.00 \$	16,250.00			\$ 345.00		260.00 \$	
15	360-7053 432-7001	CONC PVMT (CRCP)(HES) (14") RIPRAP (CONC)(4 IN)	293	SY	\$ 252.00 \$	73,836.00		117,200.00		136,245.00			336.00 \$	98,448.00			\$ 350.00		600.00 \$	
16	432-7001 432-7031	RIPRAP (CONC)(4 IN) RIPRAP (STONE COMMON)(DRY)(12 IN)	60	CY	\$ 1,000.00 s	60,000.00		45,000.00 ±					1,100.00 \$	66,000.00 3.625.00	\$ 735.79 \$ 1.549.26		\$ 1,000.00 \$ 335.00	,	1,000.00 \$	
18	432-7031 500-7001	MORII IZATION	1	LS	\$ 375.00 § \$ 93,905.00 §	1,875.00		15.000.00		4,235.00		\$ 1,825.00 \$ \$ 54.707.00 \$	725.00 \$ 55.000.00 \$	55,000,00	\$ 1,549.26 \$ 45.977.63	.,	\$ 335.00 \$ 57.500.00		60.000.00 S	\$ 60,000.0
19	502-7001	BARRICADES, SIGNS, AND TRAFFIC HANDLING	4	MO	\$ 15,000.00 S	93,905.00		11,600.00					3,500.00 \$	14.000.00	\$ 45,977.63 \$ 4.039.88		\$ 6,750.00		12.000.00 S	\$ 48.000.0
20	506-7002	ROCK FILTER DAMS (INSTALL)(TY 2)	60	I.E	\$ 50.00 s	3,000.00		1 743 75	. ,				65.00 \$	3 900 00	\$ 90.28		\$ 35.00		58.00 \$	
21	506-7011	ROCK FILTER DAMS (REMOVE)	60	LF	\$ 50.00 \$	3,000.00		600.00					31.00 \$	1,860.00	\$ 49.16		\$ 18.00	,	27.00 \$,
22	529-7009	CONC CURB & GUTTER (TY II)	60	LF	\$ 90.00 \$	5,400.00		3,300.00	\$ 53.00 \$				37.00 \$	2,220.00	\$ 64.98		\$ 95.00		70.00 \$	
23	644-7057	IN SM RD SN SUP&AM TYTWT(1)WS(P)	1	EA	\$ 1,000.00 \$	1,000.00		1,437.50	\$ 870.00 \$	870.00	\$ 465.00	\$ 465.00	2,000.00 \$	2,000.00	\$ 1,923.75	\$ 1,923.75	\$ 1,500.00	\$ 1,500.00 \$	1,600.00 \$	\$ 1,600.0
24	644-7058	IN SM RD SN SUP&AM TYTWT(1)WS(T)	1	EA	\$ 1,000.00 §	1,000.00		1,552.50					2,500.00 \$	2,500.00	\$ 2,372.63		\$ 1,600.00		1,800.00 \$	
25	644-7065	RELOCATE SM RD SN SUP&AM TY 10BWG	6	EA	\$ 848.00 \$	5,088.00							1,000.00 \$	6,000.00	\$ 961.88		\$ 750.00		860.00 \$	
26	644-7073	REMOVE SM RD SN SUP&AM	6	EA	\$ 300.00 \$	1,800.00				2,088.00			450.00 \$	2,700.00	\$ 961.88		\$ 120.00		130.00 \$	
27	662-7065	WK ZN PAV MRK REMOV (W)6"(BRK)	70	LF	\$ 4.00 S	280.00							10.00 \$	700.00	\$ 9.62		\$ 9.00		10.00 \$	
28	662-7068 662-7077	WK ZN PAV MRK REMOV (W)6"(SLD) WK ZN PAV MRK REMOV (W)24"(SLD)	810 14	LF LF	\$ 3.00 \$ \$ 75.00 \$	2,430.00		6,520.50					10.00 \$	8,100.00 532.00			\$ 9.00 \$ 25.00		9.25 \$ 26.00 \$	
30	662-7077	WK ZN PAV MRK REMOV (W)(ARROW)	14	EA	\$ 75.00 \$	1,050.00 3,200.00							630.00 \$	6,300.00					265.00 \$	
31	662-7083	WK ZN PAV MRK REMOV (W)(ARROW) WK ZN PAV MRK REMOV (W)(DBL ARROW)	2	EA	\$ 500.00 s	1,000.00								2,284.00			\$ 350.00		400.00 \$	
32	662-7090	WK ZN PAV MRK REMOV (W)(TPL ARROW)	1	EA	\$ 600.00 S	600.00		460.00					1,503.00 \$	1,503.00					530.00 \$	
33	662-7098	WK ZN PAV MRK REMOV (Y)6"(BRK)	70	LF	\$ 7.00 s	490.00							9.00 \$	630.00	\$ 9.62		\$ 9.00		10.00 \$	
34	662-7100	WK ZN PAV MRK REMOV (Y)6"(SLD)	339	LF	\$ 4.00 S	1,356.00		2,728.95	\$ 1.25 \$	423.75	\$ 6.50	\$ 2,203.50	9.00 \$	3,051.00	\$ 9.59	\$ 3,251.01	\$ 9.00	\$ 3,051.00 \$	9.25 \$	\$ 3,135.7
35	666-7015	REFL PAV MRK TY I (W)8"(BRK)(100MIL)	47	LF	\$ 2.25 \$	105.75	\$ 5.75 \$	270.25	\$ 7.00 \$			\$ 305.50 \$	10.00 \$	470.00	\$ 10.26	\$ 482.22	\$ 6.00	\$ 282.00 \$	6.50 \$	\$ 305.5
36	666-7018	REFL PAV MRK TY I (W) 8" (DOT)(100MIL)	118	LF	\$ 2.25 \$	265.50		678.50					10.00 \$	1,180.00	\$ 10.26				6.50 \$	
37	666-7024	REFL PAV MRK TY I (W) 8" (SLD)(100MIL)	465	LF	\$ 2.50 \$	1,162.50		2,139.00					10.00 \$	4,650.00			\$ 5.00		5.25 \$	
38	666-7036	REFL PAV MRK TY I (W) 24" (SLD)(100MIL)	12	LF	\$ 50.00 s	600.00		207.00	\$ 25.00 \$				24.00 \$	288.00	\$ 25.65		\$ 18.00		20.00 \$	
39 40	666-7042 666-7066	REFL PAV MRK TY I (W)(ARROW)(100MIL)	4	EA EA	\$ 500.00 \$ \$ 600.00 \$	2,000.00		1,380.00					541.00 \$ 601.00 \$	2,164.00 2,404.00	\$ 577.13 \$ 641.25		\$ 365.00 \$ 485.00		400.00 \$ 530.00 \$	
40	666-7132	REFL PAV MRK TY I (W)(WORD)(100MIL) REFL PAV MRK TY I (Y) (MED NOSE) (100MIL)	4	EA	\$ 600.00 \$	2,400.00		1,840.00		2,320.00 870.00			1.503.00 \$	1,503.00	\$ 641.25 \$ 1.603.13		\$ 485.00 \$ 675.00		730.00 \$	
42	666-7175	RE PM TY II (W) 6" (SLD)	542	LF	\$ 2.25 \$	1 219 50		1.558.25	\$ 870.00 \$	1,626.00			5.00 \$	2,710.00	\$ 1,003.13		\$ 3.00		3.25 \$	
43	666-7176	RE PM TY II (W) 8" (BRK)	47	IF.	\$ 2.50 S	1,219.50		175.66	\$ 5.00 \$				7.00 \$	329.00			\$ 4.00		4.25 \$	
44	666-7177	RE PM TY II (W) 8" (DOT)	118	LF	\$ 3.00 s	354.00		474.95	\$ 4.00 \$	472.00			7.00 \$	826.00	\$ 7.70		\$ 4.00		4.50 \$	
45	666-7179	RE PM TY II (W) 8" (SLD)	465	LF	\$ 2.50 g	1,162.50		1,604.25	\$ 4.00 \$			\$ 1,627.50 \$	7.00 \$	3,255.00	\$ 7.70	\$ 3,580.50	\$ 3.00	\$ 1,395.00 \$	4.00 \$	\$ 1,860.0
46	666-7184	RE PM TY II (W) 24" (SLD)	12	LF	\$ 45.00 \$	540.00		138.00	\$ 12.00 \$	144.00	\$ 5.50	\$ 66.00 \$	22.00 \$	264.00	\$ 23.09	\$ 277.08	\$ 12.00	\$ 144.00 \$	13.00 \$	\$ 156.0
47	666-7186	RE PM TY II (W) (ARROW)	4	EA	\$ 250.00 \$	1,000.00	\$ 172.50 \$	690.00	\$ 290.00 \$	1,160.00	\$ 45.00	\$ 180.00 \$	421.00 \$	1,684.00	\$ 448.88	\$ 1,795.52	\$ 180.00	\$ 720.00 \$	200.00 \$	\$ 800.0
48	666-7194	RE PM TY II (W) (WORD)	4	EA	\$ 250.00 \$	1,000.00							481.00 \$	1,924.00	\$ 513.00		\$ 250.00		265.00 \$	
49	666-7220	RE PM TY II (Y) (MED NOSE)	1	EA	\$ 300.00 s	300.00							1,142.00 \$	1,142.00			\$ 425.00		465.00 \$	
50 51	666-7411	REFL PAV MRK TY I (W)6"(SLD)(100MIL)	542 26	LF	\$ 2.00 \$	1,084.00		1,869.90	\$ 4.00 \$	2,168.00			7.00 \$	3,794.00 624.00			\$ 4.00		4.00 \$	
51 52	672-7002 677-7004	REFL PAV MRKR TY I-C	26 506	EA LF	\$ 20.00 g	520.00		299.00 17,457.00					24.00 \$	624.00	\$ 25.65 \$ 12.83		\$ 12.00 \$ 35.00		13.00 \$	
52	677-7008	ELIM EXT PAV MRK & MRKS (8") ELIM EXT PM & MRKS (24")	12	LF	\$ 50.00 g	2,530.00 600.00		17,457.00					36.00 \$	432.00			\$ 35.00 \$ 35.00		40.00 \$	
54	677-7008		12	LF	\$ 50.00 \$								12.00 \$	144.00						
		PAV SURF PREP FOR MRK (24")			3	600.00									\$ 12.83		\$ 3.00		3.25 \$	
55	678-7024	PAV SURF PREP FOR MRK (MED NOSE)	1	EA	\$ 50.00 \$	50.00	\$ 28.75 \$	28.75	\$ 58.00 \$	58.00	\$ 110.00	\$ 110.00 \$	1,022.00 \$	1,022.00	\$ 1,090.13	\$ 1,090.13	\$ 35.00	\$ 35.00 \$	33.00 \$	\$ 33.0
ON-BID ITEMS	TO BE INCLUDED IN BID A	AND CONTRACT AMOUNT. DO NOT MAKE CHANGES TO TH	IS SECTION.																	
56	999-WC01	FORCE ACCOUNT	50000	DOL	\$ 1.00 _{\$}	50,000.00	\$ 1.00 \$	50,000.00	\$ 1.00 \$	50,000.00	\$ 1.00	\$ 50,000.00	1.00 \$	50,000.00	\$ 1.00	\$ 50,000.00	\$ 1.00	\$ 50,000.00 \$	1.00 \$	\$ 50,000.
		TOTAL COST ADJUSTED FOR CORRECTNESS				730,860.45	s	566,829.31		594,480.75		\$ 594,944.00		597,238.21		\$ 624,703.45		\$ 632,763.00	s	\$ 687,223.
					,		,		,	· ·			•			· ·			•	
	ACTUAL BID PROPOSAL				\$730,860.45		\$566,829.31		\$594,480.75		\$594,944.00		\$597,238.21		\$624,703.45		\$632,763.00		\$687,223.	
		ADJUSTMENT DIFFERENCE				\$0.00		(\$0.00)		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.0
		Acknowledgement of Addendum						Y		Y		Y		Υ		Y		Y		Y
		Bid Affidavit						Y		Y		Y		Y		Y		Y	السع	Y
		Bidder References (Minimum of Three)						Y		Y		Y		Y		Υ		Y		Υ
		Conflict of Interest Questionnaire												V		V				

HNTB CorporationThe HNTB Companies
Engineers Architects Planners

101 E. Old Settlers Blvd Suite 225 Round Rock, TX 78664 Telephone (512) 744-9082 www.hntb.com

June 27, 2025



Williamson County Purchasing Department 100 Wilco Way Suite P101 Georgetown, Texas 78626

Attention: Kerstin Hancock

Deputy Purchasing Agent

Re: Williamson County Road Bond Program

Sonterra Boulevard

Williamson County Project No. 25IFB58 Recommendation of Contractor Award

Dear Ms. Hancock,

Please find attached the bid tabulation for the subject-referenced project. The bids have been reviewed and the apparent low bid (Mills Construction LLC) was found to be responsive and materially balanced. Following is a summary of the bid totals:

1.	Mills Construction LLC	\$566,829.31
2.	Jerdon Enterprise, L.P.	\$594,480.75
3.	Chasco Constructors	\$594,944.00
4.	Aaron Concrete Contractors, L.LC	\$597,238.21
5.	MTL Construction	\$624,703.45
6.	Joe Bland Construction, LLC	\$632,763.00
7.	MA Smith Contracting Co., Inc	\$687,223.45

The lowest bidder was \$164,031.14 lower than the Engineers Estimate of \$730,860.45, a cost savings of 22.4%. The bidding was competitive with the lowest two bidders being within 4.9% of each other.

In addition to meeting the bid qualifications subject to being low bidder, Mills Construction LLC has successfully completed previous projects for local cities performing similar work. Based on the references provided by the bidder, we concur with the recommendation of the Design Engineer, Huitt-Zollars for award of the Sonterra Boulevard construction contract to Mills Construction LLC in the amount of \$566,829.31.

Please feel free to contact our office with any questions.

Respectfully Submitted,

HNTB Corporation

Oscar Salazar-Bueno, P.E.

VIA E-MAIL

Attachments: Bid Tabulation Analysis, Engineer's Letter of Recommendation, Standard Agreement, Form 1295

Cc: Judge Snell, Williamson County Judge
Commissioner Cook, Williamson County, Pct. 1
Commissioner Long, Williamson County, Pct. 2
Commissioner Covey, Williamson County, Pct. 3
Commissioner Boles, Williamson County, Pct. 4
Robert B. Daigh, Williamson County
Adam Boatright, Williamson County

Matt Williamson, Williamson County Christen Eschberger, HNTB Corporation



June 24, 2025

Ms. Dana Ladzinski, P.E. Project Manager HNTB Corporation 200 W. 6th Street, Suite 2400 Austin, TX 78701

Reference: Sonterra Boulevard

Subject: Bid Tabulation and Recommendation for Award

Dear Ms. Ladzinski:

Huitt-Zollars, Inc. has reviewed the seven (7) bids received on June 24, 2025, for the referenced project. Below is a summary of the bid amounts:

1.	Mills Construction, LLC	\$566,829.31
2.	Jerdon Enterprise, L.P.	\$594,480.75
3.	Chasco Constructors	\$594,944.00
4.	Aaron Concrete Contractors, LLC	\$597,238.21
5.	MTL Construction	\$624,703.45
6.	Joe Bland Construction	\$632,763.00
7.	Ma Smith Contracting Co., Inc.	\$687,223.45

A detailed bid analysis and comparison is attached. The bids ranged from 6% below to 22% below the Engineer's Estimate. There were no errors detected.

Based on the analysis, Mills Construction, LLC, is the lowest bid in the amount of \$566,829.31 which is 22% below the Engineer's Estimate. Therefore, it is our recommendation that Willamson County award the referenced project to Mills Construction, LLC.

Please contact me at (512) 231-1119 or rg@huitt-zollars.com if you have any questions or need additional information.

Sincerely,

Huitt-Zollars Inc.

Rey Gonzalez, P.E.

Vice President/Senior Project Manager

Attachment: Comparison of Bid Tabs

 AUSTIN OFFICE
 o: 512.231.1119

 HUITT-ZOLLARS, INC. 9600 N. MoPac Expy., Suite 420, Austin, TX 78759
 F: 512.231.1129